Configuration Information:

System:

0OS X Yosemite, Version 10.10.5

Processor: 2.4 GHz Intel Core i5

Memory: 8GB 1600MHz DDR3

Product:

Apache OpenOffice (Writer), Version 4.1.0, Build: 9764
Also, Version 4.1.1, Build 9775.

Successful Replication:
1. Inserting table
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2. Merge Cells (B2 & B3).

AW ]| =

3. Selecting Cells (A1:B3)
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Note: A3 is not included in the selection.

When tried to replicate the bug for horizontal merge:
Merged Cells (B2 & C2)
Selecting Cells (A1:C2)
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Note: C1 is selected.



Inconsistent within the product: Vertical merge & Horizontal merge
behave differently when selected.

Vertically merged cell is handled as the upper cell (of the hidden cell).
Horizontally merged cell is handled as the right cell (of the hidden
cell).

Left - Up or Right - Down is expected.

To generalize the bug:
Partl:

Title 1 Title 2 Title 3 Inference

Description 1

Description 1

Description 1

Description 1

A table like this (with vertically merged cell at the right-bottom corner) is common.
When selecting such tables,
(From Row1 to Row5 and then to Column5)

Title 1 Title 2 Title 3 ‘Inference

Description 1 ‘

Description 1

Description 1

Description 1

Making this more visible through a simple copy paste operation,
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Note: Only 2 rows got selected from 5*5 table.



Part2:

In case of horizontally merged cells,

Xyz

Title 1

Title 2

Title 3

Title 4

Description 1

Description 1

Adjust table row|

Description 1

Inference

Click on any unmerged cell of columns 2 to 5, and select delete column from Tool bar.
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Inference

Expected: Only one particular column getting deleted.
Result: All Columns covered by the horizontally merged cell are deleted, even though the

cell selected was not it.

Adjust table row

Note: This doesn’t happen with ‘Delete Row’ & Vertically merged cell.
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